
   VIDYA BHAWAN BALIKA VIDYA PITH  

  CLASS-   2                                DATE – 24. 05. 21 

  SUB -MATHS                            S. T -  PRAGYA  

           BASED ON N.C.E.R.T PATTERN   

                    CH- 3 ( Addition of 2 and 3 – Digit    

Numbers ) . 

                         WORD  PROBLEMS  

See example carefully  : 

A.  There are 25 girls and 32 boys in a class.  

How many students  are there in all  ? 

Solution:            H             T 

                             2             5      Girls  

                   +       3             2       Boys 

                    ---------------------- 

       .       =           5              7 

      Solve these WORD PROBLEMS  according  

      To example.  

B. In an  orchard , there are 82 mango tree , and 

40 a apple trees . How many trees are there in 

all ? 

C.  In a garden  , there are 140 rose plants and  

And 52 jasmine plants. How many plants are  



There in all  ? 

D. In a kitchen there are 90 spoons and 40 

glasses .How many utensils are there in all ? 

E. In a soft there are 65 yellow cards and 30 blue 

kites how many kinds are there in all ? 

F. In a park , there are 75 women 80 men and 

30 children . How many people are there in 

all? 

G. A shopkeeper sold 120 bottles of Pepsi,  

       80 bottles  of thums up . How many 

bottles  did he sell in all ? 

H. In a library there are 300 maths books , 

250 English  books.  How many books are 

there in all  

                             ******* 

 
 


